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Introduce Weight & Mass

Reasoning and Problem Solving

The class are seeing whether the balloon

or apple will weigh more.

o The 'balloon will be
'Q heavier because it is
Eva

bigger than the apple.

Whitney

The balance will be
level because they are
both red.

Teddy is correct.
However his
explanation needs
to be clearer.
Children should
practice using
vocabulary such
as heavier than
and lighter than
when comparing
objects alongside
talking about the
movement of the
scale.

I'm thinking of an object. It is
heavier than a pencil, but lighter

than a dictionary.

Children will use a
balance scale to
find objects that
are heavier than a
pencil, then check
that their chosen
objects are lighter
than the
dictionary.

What object could Jack be thinking of?
The apple will go down . Prove it.
because it is lighter. Children should be How many objects can you think of?
M

encouraged to

o
- explain why the
The balloo.n'W|!l go up others are
because it is lighter. ) incorrect.

Teddy
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Measure Length (1)

Reasoning and Problem Solving

True or false?

False because the
cubes should be

Whitney measures the length of two

toys.

Whitney is wrong.
Both toys are 4
units long, but the
rubber and the
cubes are different

level with the
bottom of the
flower.

The flower is

U @ ———
5 I | lengths so the toys
about 6 cubes tall. are not the same
She says, length.
The toys are the same
(o)} length.
The flower is 8 cubes tall.
Explain your answer.
Do you agree with Whitney?

Explain your answer.
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Compare Lengths & Heights

Reasoning and Problem Solving

Rosie, Alex and Mo are comparing the
height of Mrs Rose and Jack.

Rosie

Mrs Rose is tall than

@ A Jack. )

Alex Jack is short than Mrs )
Rose.
Mo

(o)
Mrs Rose is longer than )
Jack. )

Can you improve their sentences to make
them more accurate?

Possible answer:
Rosie - Mrs Rose

is taller than Jack.

Alex - Jackis
shorter than Mrs
Rose.

Mo - Mrs Rose is
taller than Jack.
Taller is a better
word than longer
because we are

comparing height.

Eva thinks the pencils are the same
length.

How can Eva check if she is correct?

Using classroom equipment, can you
find an object which is longer than your
rubber but shorter than your pencil?

Can you find a friend who is shorter
than you but taller than your other
friend?

Eva needs line up
one end of the
pencils and see
which is longer.

Children could
explore other
items and
situations where
they are asked to
compare more
than two objects.
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Measure Length (2)

Reasoning and Problem Solving

Teddy measures the length of the pencil.

He says,
The length of the
pencilis 10 cm.
Do you agree with Teddy?
Explain why.

Teddy is wrong
because he has
started measuring
from the end of
the ruler not from
0

Eva, Dexter and Rosie are comparing
ribbons that they have.
Unfortunately, Dexter has lost his
ribbon.

He says,

@

My ribbon is shorter
than Rosie’s, but
longer than Eva's.

How long could Dexter's ribbon be?

Possible answers:

Mem
12cm
13cm
14 cm




